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QUESTION 1

Your company requires WORM archiving of data on their ONTAP cluster. The data must not be able to be deleted even
by an administrator. Which ONTAP feature fulfills this requirement? 

A. SnapLock Compliance 

B. SnapMlrror software 

C. SnapLock Enterprise 

D. SnapVault software 

Correct Answer: A 

Reference: http://doc.agrarix.net/netapp/doc/Archive%20and%20Compliance%20Management%20Gui de.pdf (9) 

https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-arch- con%2FGUID-
B0D72285-9301-4A20-B68A-8C64A317E995.html 

 

QUESTION 2

You ate attempting to establish a SnapMlrror relationship between your ONTAP cluster (AcmeClusOl) and a partner
company\\'s ONTAP cluster (WidgetsClusOl). The clusters are unable to establish a peering relationship. You perform a
packet capture on WldgetsClusOl and do not see any packets from AcmeClusOl. You also discover that the IP subnet
that Is used for WidgetsClusOl\\'s intercluster LIFs overlaps with a local subnet at your company. 

In this scenario, which feature would enable AcmeClusOl and WidgetsClusOl to peer with each other? 

A. VLANs 

B. broadcast domains 

C. IPspaces 

D. ONTAP subnets 

Correct Answer: C 

https://kb.netapp.com/Advice_and_Troubleshooting/Data_Protection_and_Security/SnapMi
rror/How_to_create_and_configure_Cluster_Peering_with_designated_InterCluster_LIFs_u sing_IPSpaces 

 

QUESTION 3

Your company requests that the monthly performance data of your ONTAP 9.8 cluster be exported to a CSV file for
further processing. In this scenario, which three NetApp products satisfy this requirement? (Choose three.) 

A. Active IQ Unified Manager 

B. Cloud Insights 
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C. Active IQ Config Advisor 

D. ONTAP System Manager 

E. Active IQ OneCollect 

Correct Answer: ABD 

 

 

QUESTION 4

Your company has purchased two NetApp AFF A400 HA pairs. During deployment, how many root aggregates are
created? 

A. 6 

B. 4 

C. 2 

D. 8 

Correct Answer: B 

Reference: https://www.netapp.com/fr/media/13482-tr4375.pdf 

 

QUESTION 5

You have finished deploying a NetApp AFF A400 cluster. 

Before you place the array into production, which two tools should be used to validate the deployment? (Choose two.) 

A. OnCommand Workflow Automation 

B. Active IQ Unified Manager 

C. Active IQ Config Advisor 

D. Active IQ Web site 

Correct Answer: CD 
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